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Section A
1. D o~
% Sir SRR
® (x+D(+x+D=x"+xX+x+x"+x+1=x"+2x"+2x+1
2. D F !
RSir iR
64 4 24
° (3)’2) :3 )’2 227)122
3y 3y
3 A -~
I Sir iR ' :
1. Method 1: Elimination of Simultaneous equation in two unknowns
+3g=4 Sp+15g=20
b = A = 6g=18 = ¢=3
S5p+9g=2 S5p+9g=2
® p+33)=4 = p=-5
2. Method 2: Program in calculator!
® p=-5and g=3
4 D o~
e N L
® (.0023456789 = 0.00235 (correct to 5 decimal places)
® (.0023456789 = 0.002346 (correct to 6 decimal places)
® (.0023456789 = 0.00234568 (correct to 6 significant figures)
® Therefore, the answer is D
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R Sir RIRIR

® X 4mx+n=x+4)x-m)+6

@ X i+mx+n=x"+@-m)x+6—4m

® Comparing coefficients and constants on both sides gives

® 4-m=m and 6—-4m=n = m=2and n=-2
6 A -~

I Sir iR -

® [8+7x>4 or 5—-2x<3

® x> or x>—

® x>-2 or x>1

® Therefore, x> -2
7 A ~”

R Sir AR :

® 4x’-5x-1=0 and £ is the root of the equation.

® Therefore, 43°-58-1=0 = 88°-104-2=0 = 7+105-85°=5
pP. 2 ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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8. |D
I Sir f2fefr - :
® y=a(x+b)’ = Vertexform: y=a[x—(-b)]’+0 = Min Point: (-b, 0)
® From the graph, -b<0 = b>0.
® From the graph, the parabola’s opening is upward = a>0
® Therefore, a >0 and 5 >0
9 B -~
wsirfRiRfr
® 1.7x(1-0.6)=0.68
® 0.68-1=-0.32=-32%
® Therefore, percentage change = -32%
10. D o~
T Sir f2fefR ¢
®  50000(1 + %)M =59,780.9 =59781 (correct to the nearest dollar)
11. |C F ot
% Sir f2fefr "t
o a tc=S5 A
b:c= 3:2
a:b:¢c=10:9:6
® Jeta=10k,b=9kandc=6k = (a+c):(b+c)=16k:15k=16:15
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12. D o~
% Sir A
o =k’y = 14=k(2) ()} = k:%
7 3 2
® ;=-3(2)7=189
4
13. |B ford
I Sir f2fjfR - :
® 1° Term: 5 dots, 2™ Term: 9 dots, 3 Term: 13 dots, etc..
® 4" Term =13 + 4 =17 dots, 5" Term = 17 + 4 = 21 dots
® Therefore, 6™ Term = 21 + 4 = 25 dots.
14. |C o~
% Sir R
® Upper limit of the weight of the white sugar in the bad = 5 +% =5.5kg
® Lower limited of the weight of white sugar in each packet = 10 —% =95¢g
5500 .
® n < 5 =578.9 = The greatest possible value of n = 578
15. |C o~
I Sir fRIRfR -k
® By Pyth. Theorem, AN =)13*-5°=12 and CN=)10"-6> =8
® Since AC’=AB’+BC® and AB= }202 -16’ =12
® Therefore, Area of AABC = %(12)(1 6) =96 cm’
P. ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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16. B f ot

R Sir fefefr

vi (1Y v, (12}
® Similar figures = —‘L1=|-1| = —1:[—j - h
L\ v, 4 vV, 1

®  Volume of the Biggest circular cone = %(7[)(9)2 (12)=324zx

® Volume of the upper smaller circular cone = % =12z

® Therefore, the volume of the frustum = 3247127 =3127x cm’
17. D

X Sir fRHR{R :
® GivenDE:EC=2:3 = Areaof AADE : Areaof ABEC =2a:3a
(Same height — Base ratio = Area ratio)

2
® ADEF ~ ACEB (AAA) = ;z(gj = a=6
a

2
® AAEF ~ AGEB (AAA) — -+2¢ —(Ej — X =27 e

3a+X

® Do you know how to calculate the area of AABE? 30cm’® Why?
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18. |A o~
W Sic IR
A—D:cosa and AC_ tan S
AC AB
® Therefore, A—Dx dé cosatan B
AC AB
19. |C o~
IR Sir fRIRIR - ¢
cos180° N c0s360°
1+8in(90" +6)  1+5in(270" +0)
-1 1
= +
14+ cosd 1-cosél
_ —(—cos@)+(1+cosb)
(14 cos@)(1-cosb)
_ 2cosf
1—-cos’ @
_ 2cos@
sin” @
20. |C r~
% Sir 4R |
® /ABD=/ACD=90 (Angle in semi circle)
® BC=CD = ZBAC = 4DAC (Equal chord, Equal angle)
= ZBAC= 578 9.
® /BCA=180-58 —90'=32" (opp angles, cyclic quadrilateral)
° ACBD:180 -90 -32 _ 9y’
® Therefore, LAEC=180-29 —90 =61
P. 6 ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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21. |B o~

R Sir f/iRfR - :

® Areaof AAEB= 1 (ﬁ)(ﬁ) sin90" =72 cm’

2 22

22. |A o~

R Sir fRIRfR ¢

-2)(180° )
° (n—2)( 80):5(360 ) = =12
n n
12-2)(180° .

® Therefore, each interior angle of the polygon = % =150

® The number of diagonals of the polygon = C,’ —12=>54

® The number of folds of rotational symmetry of the polygon is 12.
23. |C

2R Sir IR !G%f

® Reflection about y-axis = No change in y-coordinate

® Reflection about y-axis = Negative value of the x-coordinate

® The rectangular coordinates of its image is (—3,-1)

® By tané’:% B> taHGZ% — 6=30 and r=+1+3=2

® Therefore, polar coordinates of its image is (2, 210")

©2015 A Lai learning Center. ALL RIGHTS RESERVED. P.
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24, |A ~
% Sir R
® A moving point P is always equidistant from two points A and B.
® The locus of P is perpendicular bisector of AB.
P
T ey
A : H : H +« 0
L LW
Locus of P: Perpendicular bisector of AB
25. |B F od
7 Sir J4RR 0 :
1 1
® um=1 = x=— = —<0 = a<0
a a
b 1 b 1
® pix+cy=1l > y=—x+— => ——>0 and —>0 = ¢>0 and b<0
gy 7S c c
1 1
® —<—<0 = b<a<0
a b
® Label the diagram below:
Jr_ .LI ""
L
(1/a, 0) >
A
P. ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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26. |C o~
I Sir f2fefr - :
® Standard form of circle: (x—h)>+(y—k)’ =71
® Coordinates of the center of circle: (4#,k) and radius=r
& (x—(A)+(y-3°=(4-07+3-37
= (x+4)° +(y—3>)2 =16
= x"+8x+16+y* -6y +9=16
= x"+8x+y*—6y+9=0
27. |A ~
% Sir JRMR
® Expected value = £x36+3—0><6 =511
36 36
28. |B ~
R Sir FRAR |
s 8 2
12+16+8+4+4 44 11
29. |A ~
I Sir f2fefr
® Inter-quartile range = 75%th datum - 25 %th datum = 45 - 25 =20

©2015 A Lai learning Center. ALL RIGHTS RESERVED. P. 9
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30. B  rd
B Sir 212K~ :
® Total numbers of data =15 = The median = 8™ datum = q
® 3<m<5 = qmaybe3, 4,5
® Mode=r=3
° _2+2+43+3+3+3+3+m+5+5+6+8+8+9+10 N _10+m
15 T
73
® Ifm=3 = ¢q=3 = p= Ez4.866...>q=r
74
® Ifm=4 = q=4 = p= Ez4.933...>q>r
75
® Ifm=5 = q=5 = p= E=5:q>r.
® Therefore, Only p > r must be true.
31. |C F ot
B Sir 212K ¢
° 1 . 1 \ b 1 _x+2—(x-D _ 3
K =2x4+1 F4+x-2 x=-1)F x+x-1D x+2)(x-D* (x+2)(x-1)7?
P. 10 ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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32. A o~
R Sir RIRIR
. 2
® By slope-intercept form: log,y= (—g)log3 x+2
2 <z 2
=log, y= (—5)10g3x+2 = log, y=log,x *+2 = log, y—log,x * =2
2 e
= log3iz= 2=log,(yx)=2= =¥ = yx’ =9 = x%y =729
x 3
33. A ~
B Sir f2fefR - =
® [1+2°42"+2"=2"+2"+2°+2°+2'"+2'" =110001001011,
4. B o~
B Sir f2121R s
® x"+kx—2=0 androotsare & and S = «a+fB=-k and f=-2
o +f=@+p)-20B=(-k)-22)=k>+4
35. |C

® :=(a+5i"+@-3)i" = z=(a+5)i’+(a—23)i’ (i*"=1for all integer n)

® z=(a+5)(-D+(@-3)(-i)=—a+5-(a—3)i

® Sincezisarealnumber = —(a@—3)=0 = ¢=3

©2015 A Lai learning Center. ALL RIGHTS RESERVED. pP. 11
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36. D o~
R Sir fefefr
® To solve graphical inequalities: Substitute some points co-ordinates in the
shaded region.
® To coordinates of the 3 vertex of shaded region: (4,9), (4,3) and (0, 10/3)
® Therefore, for convenience, substitute (a, b) be (3, 7) into 3 equations.
®  The results follows.
37. D o~
R SirfRfefr
® x =216 and x,=96 = ar’ =216 and ar’ =96
2 6561 6561
= r=—and a=—— or r=—— and a=——
3 3 4
6561 2, 6561 2,
) =——(=)"=729 or x,=———(——)" =-729
=7y ( 3) 3 2 ( 3)
4
D L T !
x, ar’ r- (2) 4 x7arr[2j4
3 3
® X, tXt.tx, =artar +ar’ +..+ar’"  =a(r+r +r +..+r""
6561 2 2187
ar) _ 4 3 _ o
< S = = =1968.3< 2015
1-r 2 é
-G
pP. 12 ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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38. B o~
R Sir £2i8fR .
® cos’x—sinx=1 for 0 <x<360
—1-sin*x—sinx=1
=sinx(1-sinx)=0
=sinx=0 or sinx=1
=x=0 or x=180 or x=90 for 0 <x<360
® Therefore, there are only 3 solutions.
39. |D  rd
Z Sir £28fR .
® 057=165-75=90 = T =180 =% = k=2
. Ny . 1 ., 6 o . .
® The sine curve is shift to the left by 15° = k(x° + ;) = ; =15 = 6=30
40. |C

R Sir FZE/R & :

® By Pyth. Theorem, BE=+10"-6" =8 cm

® AC = AB (Tangent properties)

® CE=10-6=4 and EE =8 - 2r where r is the radius of the circle

® By Pyth. Theorem, 4 =8-r) -1 = 16=64—16r+r> -7

48
= 16r=48 = r=E = r=3

® Therefore, the diameter BD = 6 cm

©2015 A Lai learning Center. ALL RIGHTS RESERVED. P.
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41. |B o~
B Sir f218fR =
® Method 1: Discriminant = (
+y7+2x—6y+k=0
Y Y = X (x4 +2x—6(—x—4) +k =0
x+y+4=0
= 2x"+16x+40+k=0
= A=0 (Only 1 repeated solution!)
= 16" —4(2)40+k)=0
= 256 -320-8k=0
= k=-8
® Method 2: Calculator program (Problem solved within 1 minute!)
4. |A F od
% Sir #4RR
Method 1: Draw diagram in scale (Problem solved within 1 minute!)
Method 2: Calculator program (Problem solved within 10 seconds!!!)
43. |C r~
B Sir f24R1R | ¢
® P'-7x2xP’=40320-10080= 30240
4. D "~
Rsir RRer
1 4 1 3 17
® By drawing a tree diagram — —X-—+—-X—=—
2 6 2 4 24
pP. 14 ©2015 A Lai learning Center. ALL RIGHTS RESERVED.
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45.

B

B Sir f22fR
a+a,+a,+..+a
[ L L =x = 50x =a+a,+a,+..+ay
50
2 2 2 2
° a25+a26=y and = _(a=x) +(a, = %) +(a,—x) +..+ (a5~ x)
2 1 : 50
a+a,ta,+..+a
[ 1= 33 L=x, => 49x,=a,+a,+a,+..+a
49 2 1 2 3 49

(a, —x2)2 +(a, —x2)2 +(a, —x2)2 +...+(ay, —x2)2
49

® as=y, and z,=

® If x,=a,, = 50x,=49x, +x, = x =X,

® If as=a = y =y, butif a,;<ay, = y <y, = y <y,

(@, —x)" +(a,—x) +(a,— x)" +..+(x,— x,)
50

(q, —xl)2 +(a, —)cl)2 +(a, _X1)2 +...+(ay, —)cl)2
50

® If x,=a,, => 2z =

= M=

(a, —x2)2 +(a, —x2)2 +(a, —x2)2 +...+(ay, —x2)2
49
(a, —xl)2 +(a, —xl)2 +(a, —xl)2 +...+(ay, —)cl)2
49

® However, z, =

= I, =

(a,— )cl)2 A = xl)2 +(a, — xl)2 +...+(a, — )cl)2
50

2 2 2 2
(a,—x) +(a,—x) +(ay—x) +...+(a,y — x,)

® Comparing z, = and

7, = = Numerator is the

49
same but denominator is smaller = z, >z,

The end.

©2015 A Lai learning Center. ALL RIGHTS RESERVED.

wnrnr anAiyzladi hlk  Proanarad hiyy AnAdys T.aid

15



DSE-MAT-15-C2S

Cxrsir sz

2015 HKDSE Mathematics Core Paper II Suggested Solutions

/ ¥ 22 sir ZL =B 2015 £ 9 }%\

idanta ﬁ%&ﬁﬁ/%%/{ LA/ R R REDE
EIE2EEE? HEHE R
22 sir 2= B BRER !
Ere/V 3 AL[EE 4, 1] DRI,
PRrA T, NERIRE ST
=piESERO TR 6772 3001 .
BlE B AN = AL

http://WWW.andylal.hk/dseintensivew

HKDSE eaoher
v Mathematics
} Economics
\ Physics

We are devoted to teaching!

HKDSE / IB Diploma / GCE AS AL / SAT /HSC/ AP
IGCSE / GCSE /IBMYP /IMO /F1-F6 /Y7 -Y13

Work hard, PLag hard!
No pa'wx,s, No gains!

ALL RIGHTS RESERVED.

©2015 A Lai learning Center
anAdw1a41 hik AnAdsr T.ad

reanarad his



A A AT |
[ T

i‘? SIr ?:? /T Andy Lai BEng CUHK, MIEEE E{f‘ i ,\’;M

R R R IR SRR

BENJEY AT IIRE N, Weir REAFRL 2 -

A2 15 £ k¢ £ 2§ /IB Diploma/GCE/HSC/SAT/AP/GCSE/IGCSE /IB MYP 42 55%.
B GHATHRY B2 B Fsir ML P4 NFBEPERP RS BPF 7 Ak,
BE NGRS, JRY RO PRSI LY, W R FRARL S

Fr A p| T, KRR, HAE VAR FA D, Py B2 Y nFitied L.
ool Lie, P72 frd e d BF 4P oAV R B FFR YRR
Bosir bd FfeAERAS B NS, YRS AEE TR BT 43 B
EEAAR SR RRRES S F, 2RSS, < PE =W, 23 L RF LR
ERAE: T EEP, PR, CEP, 2FR, SR, § R

» X Sir KE g4 iz B bl Eees,
Ny
o

> FEAB? E2E (HKDSE), % =82 3@ 5545 nt 4. (23 H5
SR 2P SR IS HBL S, ARBTH20 TP, L 28 AFEA PR

< #RB Y (GCEAS/AL), % =84 5@ A%A kR 55, {§52 38545 A%

< F% <& (IBDiploma), % =83 58 6/7 5%, {} 53 5F 4445 84,

< #HE% (IGCSE/GCSE), 5 =83 F A/A*3 4, { ] 24T 8 A%

& 4o 4 4 BIEH (CESD %% 342 MCV4U, & 98/100,99 /100 = 3

> 3 AHER (BAS), BE > F R A BERAY 2 EER.

- 4#7 £¢4 (HKCEE), % =52 318204111 & 4.

< Fh T AREESERE BIMC2013) B2k &%,

S REELH/REG/EY, SFInEERE/ AR/ - SRI2EYC ¢

- %7 U5, 83 R8s, FEHEAT YT P u wwwandylai.hk/result.htm

® sir 3 F FHALLF I

<>
<>
<>
<>
<>

ERE 1-61), FFRLKE; REF-FL 5L, T2#8.
S Hd] L2, Y T30 E AR ot AR A
ATRfE, BARITIEE; BB EEE S .

Fipp d Bk BE 2GRN S {7 EE

R HE T 4T $enk: www.andylai.hk

,J.
#
L




E et

<>

<>

<>

% sir ¢ ¥ A Lai Learning Center
HKDSE / IB Diploma / GCE AS AL /AP /SAT /HSC

IGCSE/GCSE/IBMYP/KS3/MO/F1-F.6/Y9-Y13
TR EHVER LAY TEA BN

Sir §§ i Audy Lol e Yy

ZENREY A F, Fsir KT AIPEL 2 -, i

4231 16 £ ¥ ¢ & 2§ /IB Diploma/ GCE/HSC/SAT/AP/GCSE /IGCSE / IB MYP #4255
N N T A T T S L A O
AUNFSIrREERAVFL, FIRPNE/F, ?27 &, FREREIZATEL.

REGE DY, KRB0 ﬁ-aﬁkgwi&{,aﬁkggﬁﬁJ
FrAFUHIIRE, KA E, HAFVAER FrAN, PO FLEY AR &,
PEHRLE, Y v frE e P BF Y WY o, B R E R R F R AR,
% sir fv Q‘fr"‘?ﬂ?l* -t g2, §EFSAFE feifd it F 2 B
FRAGRPRERES S F, FERRSY, T2 FWAm@,, %7 Lrgg it i,
® sir ﬂ'—f)i FREN2RBAEIFTLRIFTERTIRE- 2, *FELFL TN 2B AT
FRAMXF, FFAimgrd @2t EiFin ﬂf;’;,#, el g ¥35

‘%"’ﬁ?'-ﬁ?' EPRGASRM LR RS AZE 50% FRFUARD7FEL"#N4ARA 1 Outstanding
Performer", = ##-3 A} chivih G iBi@* 301 174,

Fosir 2 TRERE, FAPL I, 2ELROCKFTE, FRRp - 2HY B RpF

ETRY

¥ osir 1 PArEd

R

TERE (1 64%), FFRIRE; RS 2FIFR, 3285
ool Le, RY T30 E AP ot AR BEE FA.
ﬁ@ﬁﬂ,%bﬁﬁli BEFEE YRR,

Foirp d Bl PEEZRAER F it (G R

PR 2 3cA2sH 4 T fenk: www.andylai.hk

“,f.;,” (e suEl_— B4 i E20c, @ A24C
Mong Kok HEd |\ : A
é | L e & e 1,1A, 2, 3C, 6, 6C, GF, 9, 30X, 35A, 41A, 42A,

60X, 63X, 68X, 69X, 81S, 87D, 93K, 95, 104, 117,
203, 212, 230X, 234P, 234X, 238P, 238S, 259B,
270P, 281A

e 21K, 74,748

":‘ BISir# %= A Lai

\/’f’\

Learning Center

dikon: B FELATEREILEFFT LT 706 3.
AWBHA: 67723001

TEC Ll enquiry @andylai.hk

Reht: www.andylai.hk




